Challenge # 6

We toss around numbers like million, billion and trillion like they
are close in magnitude to each other. Make a guess or estimate
for each of these:

If you had a million quarters, what surface could you 'cover' with a
single layer of quarters?

If you had a billion quarters, what surface could you 'cover' with a
single layer of quarters?

If you had a trillion quarters, what surface could you 'cover' with a
single layer of quarters?



Challenge # 6 Solution

We toss around numbers like million, billion and trillion like they
are close in magnitude to each other. Make a guess or estimate
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If you had a million quarters, what surface could you 'cover' with a
single layer of quarters?
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If you had a billion quarters, What surface could you 'cover' with a
single layer of quarters?
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If you had a trillion quarters, what surface could you 'cover' with a
single layer of quarters?
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